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1410 06.980)  |1.875|1.382|0.889|
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1.384 [1.030 1.853 | 1418 [0.967
1.039 |0.312 1.420 [ 1.043 [0.667
0.000 [ 0.000 (132011125 |0.931
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1.210 | ©.308 2287 [1.883 | 1.450
1408 [1.123 1,923 [1.528 1133
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function M = run(filename, E 1, E n, index ) A9679879 Tun (‘ﬁ'mﬁ'lﬂcltl.xls%1.296,41.296,1)
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> Fup( NIl ale ', 41,.296,41.286, 1)

[ ren.asy . ] 26 a.n 2549 2394 { Thex »
iefg rum.m Mrfilo 26 fn. 2549 A1a0) PR
[deurant 40,0 LS Fie 2% an 2509 DO ’
st s HLS File 26 25490:21.3
+] resultxt TKT Fila 26 a.n 2549 20470 | srror ¢ =
< ormtal TG Filo 26w, 2549 2047 | o
B 0.0050
| any =
o o 0 O 91,2950 41.2960

-0,0827 515.3500 -0.000% -0.0830  41.2139 4l.2120
0.1157 S22.6000 —0,03 0.1153 41.3290 41,3263
D.4845 940.1300 -0.0085 0.483% 41,0135 41.8122

-1.3540 433.200¢ -D.0003 =1.3543 44,4595 40,4580

-0.0207 225.0000 -0,0001 =-0D.020P AD.4362 4D.9372
1.26890 4S2.8000 -0.000% 1.2887  41.7278 41.7159

-0.2633 SL1,7300 -Q.0009 -0,2637 41,9595 Al.49622

-D.7057 437.350¢ -0.0003 ~0.7059  40.7588  40.756)
0.3242 411,1500 -0.0003 D0.3239% 41.0030 41,0002

~0.3713 330.BODD  -0.0001 -0.3715 40.7117  40.7087

-D.1184 35,4500 -~0.0003 ~D.1190 40.5928  40.5837

# scetion_t(DITF.PIST, E_i,E_R,order
--{B51, 731, B52, F52, ordat] = {filen
paata (" HHA WD, X181}
gerd

2671042548 20041 W, —%
epun (AW . R by 11.296,41.296,1)

E @ eunlt IRAURK L, 11,296, 41,294, 1) -B.5328  502.450¢  -0.0003 -D.5332 40,0800 40,0545
= runifilenams ¥ 1,1 _n, lndex) : -1.633y 991.5000 -0.0002 -1.6336 28.4287 38,4310
= run [FMNIEOTYLR e, 41.296,491.2%6,1) 1.4555 555.4500 —0.0004 1.4551  39.0022 39,8781
- 41.x1p7, 41,296, 41,296, 1) 0,195 500.95C0 -D.0GDA  0.1948  40.0773  40.67I0

1,1, 4559 ,95,296,10.0¢ 0.5677 480.0000 —0.0003  0.5669 40,6445 40,6394 N
v S ] i G193  422.1500 =, ooy G. 1931 40,7448 40,7889
xin®, 41.296,490.0% 0,2643  303.5560 ~0.0002 0.2641  41.0822  41.0470

E,R1.246,41.296,2) 0.1017 260.1SC0  -0,0002 0.1014 41,2950 41.2204 .

41,2187, 41,296, 41.295,2) ‘j -0,4387 198.5000 -0.0001  -0,4388  40.7952  40.7536 B

T T y <} .8 N E | K

51 4.2 msiszunanasevila

413 wndwsanmsdszuanadiat
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- “ﬁlawuﬂ (STATION)
- ANIEAY (DIFF)
- f1l$uuA (CORRECTION)
- Az S uud (NEWDIFF)
- fnuRmAMAeU (ERROR)

o ) a

- wadwiarszal o (egTugll result.txo)

k.

- Fanyn (STATION)

- MIzaulTuLA (NEWELEV)
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ERROR =
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DIFF
0.0000
-0.0822
0.1157
0,3845
~1.3540
~0.0207
1.2050
-0.2633
-0,7057
a,3242
-0.371)
~0.1188
-0,9328
-~1,8333
1.4555
0.1952
0.5672
0.1431
0.2643
0.1017
~0.4357
0.2925
z.3712
-0.0313
9.1130
0.0658
=0.1113
0.074s
~13.3040
=0.6813
~0.1798
-0.1195

6.008

CORRECTICH

$.0000
-0.0003
-0.000%
-0.000€
~0,0003
~0,0001
~0.000%
-D.0003
~0.0003
~-0,0003
-D.0001
~0.0002
-D,0003

HENDIIF
00000
-0,0820
0,115
0.4839
~1.3543
-0.Gz08
1.28087
-0.2637
-0.705%
0.3239
-0,3715
-Q.,1130
-0,5332
-1.6336
1.4551
0.1948
o,5662
0,193
0.ze11
0.1014
-0.4188
0.2924
2.3706
-0.0924
a.1127
0.0855
—0.1117
0.9741
~1.3044
-0,6616
-0.1602
-0.11857

funm . Fermd

Pk
z STATICN HNEUELEY
k] HU t 41.2%60
4 Ry 41.12110
5 Hy 3 41.3283
5 HU 4 41.8122
T HY 5 40,4580
a HU s 40,4372
) Hy 7 41,7259
16 HY 8 41.4622
11 Ny 3 40.7543
1z WU 10 41,0502
13 RV 11 40,7007
14 Hu 12 41,5857
15 Hnu 13 40,0565
i6 KU 14 1G.4220
1 KU 135 319.8781
18 HU 16 40,0730
19 Hy 17 40. 63928
=0 HY 19 40,7029
it By 1% 41,0470
22 HU 20 q1.2284
23 Ky 21 40,7896
& NU 2 q91.05206
5 Hu 23 43.4526
H HO 24 43,4214
27 Hu 2% 43,5741
8 HU 28 43,5856
23 MU 37 43,4878
a0 RU 28 13,5619
R Y HU 25 92.2515
32 HO 30 41.5340
33 HT 21 41,4157
31 Nu 2 41,2960
315

i
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MATLAB anuaizdoyatiudnizadwnsevilandziandafiudionyaseudasonya

gathoaenypGuiusziiunyadou msnsendeyaiudn/guamumi 3
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1407[1041|  [000 0000]0000] [7923[14B0(1080)  [0:G00]0000]0000
1640 [ 1.190 1825 (1.275 [0825|  |2110|1665|1200|  [1810]1.381 0.810
1450|1025 | [1905|1437]0868|  [1845]1400]0055 1970 [1452 0588
1360 (0918 1650|1500 1050 |  [1.78211339(0867] (1880114501020
1384 | 1.053 1853 [ 1410 [0.867 1760 (1470 [ 1,060 7850 |1 360 11530
1039 [0.812 1420 | 1.043 [ 0667 1,185 | 0060 | 0.735 1.446 [1,080 |0 690
0.000 {0.000 1370 1.125 [0931 1,000 | 0000 | 0.000 1243 | 1047 | 0 850

0.860 | 0458 0.000 [0.000 10400 1275|0870 | 0466 0.000 | 0000 | 0.000
121010808 2287 11.883 | 1.480 1601 1.20070793 2205 (18341432
1408 [1.123 1923152811133 1.707 [1.423 11.140 1915 1151811121
0.000 {0000 1.700 {1.420 £1.141 0.060 {0000 | 0000 17151436 ]1.157

1157 [8.500 {0000 [0.000 | 1.7509.450 [1.150 | 0 060 [0.000 [0.000
1.253 77751475 [1175] 177811599 [ 1260 1770|1471 (1472
0.005 [0 000 [1.780 [1.506 [1 233 0060 [0:000 [ 0500 | 1.786 [1518 | 1.251

18540 |1 179 01000 |0 000 |€.00C 191515321150 0000 [0.000 {0600
1793 | 1447 1800|1275 [0 231 2150 1.800 [ 1450 1520 [1211 10833
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M3nsOnMIsZATITUAY , Mszaugamo 293ouila , 2esouitla exlednlu
function M = run{ filename, E_1, E_n, index ) AIA0619 run ('fT'llIﬂ”lUGLU.xls‘,ﬁl1.296,41.296,1)
& A A S = 1 - | T L] 3
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| J e ASV Fils 2 an 254323
Brnm Wil Ba.n 1540 240
lwewsartet s RS File 26 a.0. 2543 0034
{:Isranut.ds A4S Filp 26 nn. 2543 0:221:5
T resut 2t AT Fils 26 a0 25492047
Tidemtat TAT File 26 0 0. 2543 2047 ]

check =

Q.0z80

| exzor_g =

0.GO70

R YRR AT oeTh ] +,41.296,41,.206,1}

H = gunl(filename,_1,E_n, tndox)

- TELINILSAS G018 W, —%

B = run('AaaruRul.l. b, x1st 41,296,410,
B o= pup|rdederdal. st 41,296, 41,296,
Enn (P EESatEL, 2t 4L, 205,41.294,2)
B o= min(

A = pon(iOsywiy.win ,41.296,4L, 295, 1) - -

B = runprestuti.cdis, 41,206, 41.395,3) |
B = run(fwderal.xis',41.205,11.256, 1)
B = ran(t dEsu®sa.g, Laxlat, 41,796, 80,08 1)

inl. 1.3 .wint, 41,296,40.05 | |
reevnl? #lasotn, 7.1, vix0, 41256, 40,081, 2)

=0.GELT
0.1157
[ -1 1Y
-1,3510
-D.0207
1.20980
~D.2633%
~D. 7057
G.3243
-0.37M7
-0.11B8
-0,5328

]
$519.3500
522, 6000
948, 1000
432, 3000
121%,0000
41523000
11,7500
127.1500
411.1500
430.8000
2349.85DD
502.9500

-0.5007
-0.0007
~-0.0013
~0.0009
-0, 0003
=0. 0004
=D.0007
-0.0008
=0.8008
-0G.8003
-0, 00m
«0.0008
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15 1y, 2550
5040478

~D.0a3%
0.113%0
D0.4833
13548
~0.0210
1.2688¢4
~0.2E92
-0.7Q52
0,3218
=0.97L8
=D. 1191
-0, 5335

41,2960
41.2133
41.3280
11.0135
20,4575
40.4338
47278
41.4645
40,7539
41,0030
40, T117
40,5928
40.0620

41.2960
A1.2127
A1.3277
A1.8108
10,4564
404354
45.72)9
41,4599
40,7838
41,0773
40.705¢
40.5B65
40.G530

cin i
- crun (P MARIEAELL S 4.0 in 42,296, 40.653,2) % 1
€] s - vi
g St
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ar ad Qs b
- HaanEAL UL (error.txt)

»
=

- oK YA (STATION)

- AT AL (DIFF)

- 115 1uA (CORRECTION)

- AMENszAVUSULA (NEWDIFF)

- AIANUAAIARADY (ERROR)

- wadnfaszAuUFuud (oglugl resutt.x)

- %91A (STATION)

- A1szdulTund (NEWELEV)



ITATION DIFF CORRECTICH NI¥DITS

w1 9.0000 9.0000 0.0000

Wa 2 -0,0827 -0.GD07F ~0.0831

Ny 3 0.1287 -0.060% 0.1150

B9 0.4D4% ~0.0012 0.4891 :
U 5 ~1.3540 ~0,000§ -1,3546 ,
BT & -p.0207 ~0.0003 -0.0210

w7 1.28%3 ~1.0006 1.1884

LY ~0.2833 ~0.0007 -0,2640

W5 -0.7057 ~8,0606 -D.7062 i
¥u 10 0.3242 ~0.,000§ 0.323¢

WY 1L ~0,3713 -0.,0003 -0,3714

T 12 -G.1189 -0.0003 -0.1151

NU 13 -u0,5328 -0.0006 ~0.5233

IRROR = 0,007

©anw 40 wedtd ledd - L ;

f_p_g:men e

= o d o a ar =y
51 4.7 madwssnSauddmiuaesonida

STATICON NEMELEV
a3 41.2960
O 2 41.1127
KU 3 10,3277
NT 4 41 .B10%
ng & 40,9554
HY s 43.4354
NU 7 11,7239
w8 41.4599
T 90,7536
¥3 10 41.0773
nw o1 40,7056
¥y 12 40,5065
w2 I3 40.0530
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